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QUESTION 1

Which of the following strings can NOT be inserted into an XML column using XMLPARSE()?
A

B. "John Doe"

c.™

D.™

Correct Answer: C

QUESTION 2

User USERL1 has the privileges needed to invoke a stored procedure named GEN_RESUME. User USER2 needs to be
able to call the procedure - user USER1 and all members of the group PUBLIC should no longer be allowed to call the
procedure. Which of the following statement(s) can be used to accomplish this?

A. GRANT EXECUTE ON ROUTINEgen_resume TO user2 EXCLUDE userl, PUBLIC

B. GRANT EXECUTE ON PROCEDUREgen_resume TO user2; REVOKE EXECUTE ON PROCEDURE gen_resume
FROM userl, PUBLIC;

C. GRANT CALL ON ROUTINEgen_resume TO user2 EXCLUDE userl PUBLIC

D. GRANT CALL ON PROCEDUREgen_resume TO user2; REVOKE CALL ON PROCEDURE gen_resume FROM
userl, PUBLIC;

Correct Answer: B

QUESTION 3

Which of the following strings can NOT be inserted into an XML column using XMLPARSE()?
A

B. "John Doe"

c.m™

D.™

Correct Answer: C

QUESTION 4
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Which of the following is TRUE for the DB2 isolation level Cursor Stability (CS)?
A. An application process acquires at least a share lock on the current row of every cursor.

B. Any row that is read during a unit of work cannot be changed by other application processes until the unit of work is
complete.

C. Any row changed by another application process can be read, even if the change has not been committed by that
application process.

D. An application process that issues the same query more than once in a unit of work will not see additional rows
caused by other application processes appending new information to the database.

Correct Answer: A

QUESTION 5

Given the following statements:

CREATE TABLE tabl (c1 INTEGER, c2 CHAR(5));

CREATE VIEW viewl AS SELECT c1, c2 FROM tabl WHERE c1
cl, c2 FROM viewl

WITH CASCADED CHECK OPTION;

Which of the following INSERT statements will fail to execute?
A. INSERT INTO view2VALUES(50, \\'abc\\)

B. INSERT INTO viewl VALUES (100, \\'abc\\)

C. INSERT INTO view2VALUES(150, \\'abc\\)

D. INSERT INTO viewlVALUES(100, \\'abc\\')

Correct Answer: C
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